P A=12 qae

/ J’.._Q.;S.;T'mn
6 ooy




%139 ,nniEn 0Ty L avhy L 7rorhoaa |:"=?' 1733 137 ,07027ED D03

«*Fab

LU BYIVIREY MIZAEN MBI N33 173ph2 297 hiind -
nig an teas (1

JT3% =133 1o3) ghxh 29 1947 pawa i(naw Yraz) mpradn amien
39 - 1951 ;46 - 1950 .51 - 1949 ,35 - 1948 nawz ,{o¥iya n3123 *on

SAYKY 12 A1y | e A9y piaat) Braw vnpa

1(=) 620 = 1948 (o217 &Y nipravn = oama10a) YerR0ak AIpIavn pmian
pa) vy ;(356) 1692 = 1951 ;(364) 165= = 1950 ;(159) 1361 = 1949

239,02 ,46.58 ,51.71 ,235,98 (orrwe

1(29.94) 26.743 = 1949 (26,08 yoxb) 17,569 = 1948 (orniad pajamats

.(32.72) 43,328 - 1951 ;(32.94) 26.003 = 1950

(p¥71m kY = p¥a3ios) @yniny Yo vpae e
A2316. 22,74 mhrYy = 20,467 = 1949 ,( = } 19.62 n9xh 12,819 = 1948

(5.782) 26.31 yym% 34,968 = 1951 ,(5186) 26,49 n9ey = 28,855 = 1950

¥i11 pYk oviw panma bRt vpap viaq 97,208 phaon pank hoa

07110 Mpata 5,330 iz ,etTant oty 123,643

1® 2800 = 49 w10 ,(o*3vin 330=Y% me) 2650 48 mip ipIR3 GrREYY
y 3400 = 51 jioa jaewn 440=% 1 e = 300 = 50 90z jamin 420 =% 1
31050 ¢ 1 yvioa ;BBO @ 1 neyaasa ,o0°3mn T15-% kp1v 1 3"mwa L465-% 1

1330 ¥ 1 nevza



13,450,000 = 51/50 § 7 985,000 = 49 g = 48 *H1v pIKYIAT TWE 3'EPD

A 6,136,000 = 51/52 , % 4,161,000 = 50/51

p 2. 182,180 — 2 ;2,013,022 - 3 ;538,000 - ‘& nmaw torhizy prya nrn
=142.184 inpavo 7KIpIY PRI L,00PW ,nENE L TY0RK 39D 5 3,733,900 = 1

tnatanna TIwED (2

;798,700 = 50/51 ;566,870 = 49/50 ;225.670 = 48/9 :mypmon avapn

‘ «1.400.673 = 52/3 ;869.456 - 51/2

- 4,847,831 = 2,105,718 _pex1a ik 9728 ,0v703 D337 17
= 5.164.651 - 2,096.675 2acian ;14.335.125 = 9.954.550 = 6.687.000
g*yoan ,aTvenm nazva nv1ine WWITE J15.TIS.E00 T 115440000 = T.445.000

«0'N*1190

g*1217 100 ,np2 1o 6,000 ,4 = 1948 :_nirhragnyareo
21000 15 = 1949
85.000 29 - 1930

pvravy 1200 120,000 34 = 1951

TI73 RPN ATEI LTI BYEIBE AFIID

[=A1-R -} oYDIeD RN
2 2500 peSewrotpibba BYRSIIN %Moo BYRRY Y 95.000 1.T00 1949
5 28,000 130, 000 3.000 1950
19 31.000 , 175.000 3,300 1931
18 =

(yrprna 3}



oY¥p137 00B

4,000
&, 10
T.400

7.000

1000
950

950

e n %Yoda np1avee nEpvan

Y3IM93 KI3Y ne3 GRERL T
236,652 911.958 653
778,407  1.879,123 1.410

1.110.242  2.366.600 1.233

1.324,248 2,107,565 1.1485
k"n Soa3

7T 000 280, 000 n7

f201,.000 240, 000 227
204,000 431.873 17
173,000 267.469 108

1Y boaa
58,000 280,000 152
120,000 258.308 139
93.000 1584180 99

1948
194%
1950

1951

1948
1949
1950

1951

1949
1950

1951

L0°0BE P12 1198 L,11eYpn YPeo (T Pamk 12omiw avhyen

314100 = 49 7o ;11240 = 48 mi02 ovrwEn ura1e%e¥a Twon

51 7o
1.505
1.521

14,769

17.795

30 me
1,309
1.2T6

15,846

49 me
1,035
1.029

2200

12.014

L8845 = 51 me 16,334 = 50

§ a9 *Y2 naze

48 718
800
Bo0

L 290
8,850

79137183 K

A RFRY-

K@D n1*3123



e Y139
12.918
20,467
28,4855
34, 468
97.208

vy

101.820
239,141
165,405

M
684,275

+_ 07,208
* T81.483

{p*1va%a) prervekn

649,633

73870

1.013,811

1.202.944

AIYIDN DEpA DIT2
1948 9103
14949
1950

1951

n131pe

F161|2"3*5‘!4 - 195":' ;112iml514 o 194? 'ﬁ TUJ-TTSIEET 1943 LRE:}

= ¥M.3.51 ¥ |4ﬁ-575-093 ANL.5.50 7y p".l E?rgjaag'd'i = 1.3.49 1p

$3.022,500 = 50 ;3.600,000 — 49 5 160.548 = 1948 nava fa1p*o? ird

. 203,435,878

= 3.3.52 1 ,52.007.938

1951 =3p213 m03

« 1¥0EaN RIRRIA

- H

6,618,761 = 50 ;4,029,280 = 49 y» 18,181.077 ~ 1948 1wz nY nta

;3,918,576 = 50 ;3.654.747 = 49 36,177,506 - 48 i1vyny W0

(3

(4

(5

- 52 31,000,000 = 51

~ 52 ;3,000,000 = 31


http://www.tcpdf.org

